J R.AS,

sl

100D =
1002 =

596,8 x 1004 =
1002 =

100D =

1004 =
1x10=
820,1+ 107 =
6% 1003 =

1004 =

Aagull NGBS

7% 1003 =
100D =

185,.8 = 10072 =
5x10% =

688,9 + 1002 =
442,1 x 1003 =
100D =

1002 =
—2x10=

9x 107 =
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1077 =0.1

1072 = 0.01

596,8 x 107 = 0.05968
1072 = 0.01

1079 = 0.1

107 = 0.0001
1%x10=10

8201+ 107 = 820100
6 x 10 = 0.006

10°% = 0.0001

Al NGO

7% 107 = 0.007

1077 = 0.1

185,8 + 100 = 18580

5x10% = 500

688,9 + 107 = 688900
442,1 x 107 = 0.4421
1077 = 0.1

1072 = 0.01

2% 10=-20

9 x 10> = 900
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